Name: ______________________________________ Date: _____________________  Period: _______
TEST REVIEW – QUADRATIC FUNCTIONS
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What is the maximum area of the porch? ____________________________________________

What is the width in feet of the porch with the greatest area? ___________________________

What is the largest width the porch can have? ________________________________________

What is  ______________________________   ______________________________

What is the input when the output is 225? ______________________

True or False? 				True or False? 
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image5.png
Which statement about the quadratic parent function is true?

Its graph is symmetrical about the x-axis.

F
G Its graph is symmetrical about the y-axi
H_Its domain is the set of all non-negative numbers.

3 Its range is the set of all real numbers.
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Which statement about the quadratic functions below is false?

o6 ® >

3

f(x)=7;x2+6

g =—22—5
1

h =2 e

The graphs of two of these functions have a minimum point.
The graphs of all these functions have the same axis of symmetry.
The graphs of two of these functions do not cross the x-axis.

The graphs of all these functions have different y-intercepts.
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What are the solutions to the equation x? — 4x = —1?
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The graph of quadratic function r is shown on the grid.

What is a solution to r(x) = 02

A -50
B 4

c 14

y
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I f(x) = (x = 3) + 4 and g(x) = x* + 2, which statement s true?
F f(=2)=g(=3)

G f(0) = g(-1)

H f(8) = g(3)

3 f(2) = 9(1)
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The mapping below represents y as a quadratic function of x.

x v

A

Which representation shows the same relationship between x and y?

€ {(=4,=6), (=2, =3), (0, =4), (1, =3.75)}

D y=025¢-4
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Which expressior

is equivalent to 2x% + 7x + 47
F (x-1)(x+4)

(@x+1)(x-4)

@x+1)(x+4)

3 None of these
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When a contractor paints a square surface that has a side length of x feet, he needs to know
the area of the surface in order to buy the correct amount of paint. Since the contractor
always adds 25 square feet to the area, he buys extra paint. Which function can be used to
find the total area in square feet, A(x), that the contractor will use to determine how much
paint he needs to buy?

A AW =250
B A= (2547
© A = (25%)

D AW =425
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Which function is equivalent to f(x) = 6x* — 13x + 57
A )= (x=D@x+5)
B () = (x=5)2x=1)
€ 0= (x=D@x=5)

D () = (= 5)(2x +1)
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Which expression is a factor of 36x? - 49?7
18x-7
6x—49

18x-49

o 0 @ »

6x-7
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The function L = 0.8T2 models the relationship between L, the length in feet of a pendulum,
and T, the period in seconds of the pendulum. Which value is closest to the period in seconds
for a pendulum that is 30 ft long?

F sas
G 495
H

685

61s
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The graph models A, the area in square feet of a rectangular porch with a length that is 0.56w
less than 28 ft given a width of w feet.
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The graph models A, the area in square feet of a rectangular porch with a length that is 0.56w
less than 28 ft given a width of w feet.
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What are the solutions to the equation 3x? + 15x = 187

A x=-3andx=-

B x=-6andx=1

€ x=6andx=13

D x=0andx=1
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Which statement about k(x) = —x? - 2x + 15 is true?

The zeros are -3 and 5, because K(x) = ~(x + 3)(x - 5).

The zeros are -5 and 3, because K(x) = ~(x + 5)(x - 3).

The zeros are -5 and -3, because K(x) = ~(x + 5)(x + 3).

vz e m

The zeros are 3 and 5, because k() = ~(x - 3)(x - 5).




image19.png
The graph of f(x) = x? is shown on the grid.

v

Which statement about the relationship between the graph of f and the graph of g(x) = 7x? is
true?

The graph of g is narrower than the graph of £.
The graph of g is wider than the graph of £.

The graph of g is 7 units below the graph of £.

“ Iz o m

The graph of g is 7 units above the graph of .
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What are the solutions to 2(x - 7)? = 32?7

A x=7+32
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Which statement about f(x) = 2x? - 3x—

true?
A The zeros are —= and -1, because f(x) = (x + 1)(2x + 5).

B The zeros are —= and 1, because f(x) = (x~ 1)(2x + 5).

mo Nlo

C The zeros are -1 and ; because f(x) = (x + 1)(2x-5).

D The zeros are 1 and g because f(x) = (x-1)(2x~5).
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Quadratic functions g and w are graphed on the same coordinate grid. The vertex of the
graph of g is 18 units below the vertex of the graph of w. Which pair of functions could have
been used to create the graphs of g and w?

A g(x) = 18x? and w(x)

B g(x)=x*+18 and w(x) =

€ g(x) = -18x* and w(x)

D g(x) —18 and w(x) = x*





image23.png
What are the zeros of f?

A 3
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A graph of f(x) = 6x?~ 11x + 3 is shown on the grid.

v
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The graph of quadratic function g
the y-intercept, and the vertex are

shown on the grid. The coordinates of the x-i
tegers.

intercepts,

What is the maximum value of g?

Record your answer and fill in the bubbles on your answer document.
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Quadratic functions g and k are shown below.

900 =5x =12
K =s e

For what value of ¢ will the graph of k be 9 units above the graph of g?

Record your answer and fil in the bubbles on your answer document.
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Which table shows the same relationship as y = —x? + 3x?
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Which statement about the quadratic equation below is true?
—4.5x* +72=0

F The equation has x = 4 as its only solution.

G The equation has no real solutions.

H The equation has x = 4 and x = —4 as its only solutions.

3 The equation has an infinite number of solutions.
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The graph of y = 3x? — 2 is shown below.

If the coefficient of x? is changed from 3 to another positive number to create a new
function, how will the graph of the new function compare with the graph of the original
function?

A The x-intercepts of the new graph will be the same as the x-intercepts of the original
graph.

B The vertex of the new graph will be different from the vertex of the original graph.
The new graph will be wider or narrower than the original graph.

D The new graph will open in the opposite direction as the original graph.
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The population of a town is currently 9,000. The function p = 9,000 + 8t> can be used
to estimate p, the population of the town t years from now. Based on this function, which
statement is true?

F The population of the town is increasing at a constant rate.
G The population of the town will reach 10,000 between 11 and 12 years from now.
H

The population of the town will increase by 256 people two years from now.

o

The population of the town will increase and then decrease.




